CT16-1

The graph below shows a snapshot of a wave on a string which is traveling to the right.  There is a bit of paint on the string at point P.
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At the instant shown, the velocity of paint point P has which direction?
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E) None of these
At the instant shown, the acceleration of the particle has which direction? (Same choices)
CT16-2

Two travelling waves 1 and 2 are described by the equations.
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All the numbers are in the appropriate SI (mks) units.

Which wave has the higher speed? 

 A: 1

B: 2

C: Both have the same speed.

The wavelength ( of wave 1 is most nearly

A: 1m

B: 2m

C: 3m

D: 4m


The period of wave 2 is most nearly


A: 1s

B: 2 s

C: 3 s
 
D: 4 s


CT16-3 Three waves are traveling along identical strings.  Wave B has [image: image8.wmf]y
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twice the amplitude of the other two.  Wave C has a slightly has 1/2 the wavelength than A or B.

Which Wave goes fastest?  
A:A

B:B  

C: C


D: All have same v

Which wave, A or C, has the higher frequency? A:A
C: C

Which wave, B or C,  has carries more energy per time (power)?

B: B   
 C: C

 D: Both B and C have the same power.

CT16-4

A solar sail spacecraft is pushed away from the Sun by "radiation pressure" which is proportional to the intensity I of the sunlight.  But the craft is pulled toward the Sun by gravity.  If the sail on the craft has a big enough area and small enough mass, then the craft will move away from the sun; that is, if the ratio 
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 is greater than 1, then the craft will accelerate away from the Sun.  But if it is less than 1, it will fall toward the Sun. How does the ratio 
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 vary with distance R from the Sun?
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A: 
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stays constant as R increases.

B: 
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 decreases as R increases.

C: 
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increases as R increases.

Ch11Q5.

A string is clamped at both ends and then plucked so that it vibrates in a standing mode between two extreme positions a and c.  Let upward motion correspond to positive velocities. When the string is in position b, the instantaneous velocity of points along the string is...
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A: zero everywhere.

B: positive everywhere.

C: negative everywhere.

D: depends on the position.

Answer: Yellow: depends on position.
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Ch16Q6.

A string is clamped at both ends and then plucked so that it vibrates in a standing mode between two extreme positions a and c. Let upward motion correspond to positive velocities. When the string is in position c, the instantaneous velocity of points along the string is...
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A: zero everywhere.

B: positive everywhere.

C: negative everywhere.

D: depends on the position.
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